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T B TER 120 15% 6 6 1.00 91 114 85 0.75
HEER TEH 280 15% 82 44 186 255 236 211 0.89
FEER EEH 280 15% 72 44 164 285 236 241 1.02
=8 TER 240 15% 79 38 208 228 202 190 0.94
5 Hl TER 40 15% 9 9 1.00 31 31 22 0.71
hFEX # ¥ ETER 200 15% 52 31 168 195 169 164 0.97
LEiFR EEH 30 15% 6 6 1.00 20 24 14 058
BB ETER 240 15% 47 38 124 188 202 150 0.74
L/NTIE]d EEH 360 15% 92 57  1.61 444 303 387 128
Wit fES R EaE# 40 15% 6 6 1.00 24 34 18 053
NP EEH 360 15% 63 57 1.1 403 303 346 1.14
NI EEH 360 10% 82 39 210 379 321 340 1.06
NI EEH 320 10% 61 35 174 339 285 304 1.07
F¥% -mFER A F ETER 120 15% 25 18 1.39 92 102 74 073
A F /NESE TER 60 15% 7 7 1.00 18 53 11 0.21
N ETER 160 15% 22 22 100 112 138 90 0.65
R E ETER 60 15% 26 20 1.30 54 40 34 085
EFERX F M TER 80 15% 8 8 1.00 48 72 40 0.56
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BHICET SR WUE HHF 40 15% 8 6 1.33 40 34 34 1.00
EEICETIER SR EER 40 30% 30 12 250 43 28 31 1.1
5iadt 1HHREY 2AR 40 30% 12 12 1.00 31 28 19 068
FHER EER 80 30% 29 24 1.21 86 56 62 1.1
FHER 1HHREY 2AR 40 30% 7 7 1.00 26 33 19 058
X M EER 40 30% 17 12 1.42 29 28 17 061
(il S EER 40 30% 16 12 1.33 40 28 28 1.00
BB BEER 80 30% 6 6 1.00 47 74 41 055
HEEEE EER 120 30% 14 14 1.00 92 106 78  0.74
HEERE 1EHREY 2 AR 40 30% 6 6 1.00 25 34 19 056
ENTIEEES EER 80 30% 30 24 125 103 56 79 1.41
ENTTEEES TERRER 120 30% 37 36 103 121 84 85 1.01
ENTIEEES gt 2 A% 40 30% 12 12 1.00 42 28 30 1.07
ENTISES 1EHREY 2AR 120 30% 52 36 144 147 84 111  1.32
=B EER 40 30% 6 6 1.00 40 34 34 1.00
J\I&E EER 40 30% 17 12 142 38 28 26 093
T2(CEATH%R 4SBT HEEMmT 40 30% 15 12 125 42 28 30 1.07
SARIE ERE 40 30% 14 12 117 34 28 22 079
SARIE 1B MR 40 30% 10 10 1.00 51 30 41 137
SARIE RE(LFEH 40 30% 3 3 1.00 26 37 23 0.62
SARIE BT IO 40 30% 7 7 1.00 21 33 14 042
B ¥F B F 40 30% 3 3 1.00 27 37 24 065
B ¥ ERVATLE 40 30% 4 4 1.00 15 36 11 0.31
B ¥ BRI 40 30% 3 2 150 19 38 17 045
FEEILE R 40 30% 11 11 1.00 33 29 22 0.76
FEEILE EFHEHE 40 30% 11 11 1.00 31 29 20 0.69
FEEILE ELRH 40 30% 6 6 1.00 37 34 31 091
FEEILE EHREFH 40 30% 8 8 1.00 38 32 30 094
FEEILE RIE(LEH 40 30% 3 3 1.00 32 37 29 078
WmILTZE R 40 30% 6 6 1.00 32 34 26 076
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WmILTZE BEH 40 30% 26 12 217 70 28 58  2.07
mLT TKE 40 30% 16 12 1.33 49 28 37 1.32
MILT HhHERL 40 30% 16 12 1.33 36 28 24 0.86
WILUE EEHoR  TYIVE 40 30% 19 12 158 44 28 32  1.14
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